CaiAE 1) v
FISERA (- =5BR)
I X W =
(ZD—) BE BRI R E
I b3
* H ey = H ey
i F A5 R e OV 1) R 312,274 e B AR P A 1, 360, 743
AL NS 83, 591
K Bl 3¢ IR ¢ 205, 348
TR MR 79, 263 VRV TR A E 100, 856
FEBE - SAHG 73,378 VRV A A
FRABTAAR - FRAR S W 2,073 KEEIBE
Yt 3,812 e RS RIS o 641, 324
Z DA I SCN=E ¢ 39,712
P VS 22 168 it % 0 8 Rt B 57,393
(7L PEL IR B 69, 076
] B BREL R - TR B 42, 661
Z OAth, VRIS R A
i SUE & gk % 79,779 T HUER Y A AR
TR AR AR 217, 381 Z DO 120, 782
if U & M 18, 491 A 120, 782
k2 33,907
VN ZE
Tk Mt 961
PR A8 Mt 106, 131
LSgt ) 106, 131 8 PR AN fE IR 2 0
HrARY &
Z OAth, KEEIAE
PRVE 1 et b i TeA
L) MVEE it 5% F 7
VS VS D A58 {f it % EERAHEE T E
PRTE R A ik JLA
RS K S5 10, 687 Fl7
RIS EE - (R Z DAt 0
iR JLAE
0 E Fl5-
3 29, 858 BRSO




(ZD—) #EHE BRI RS

I
H H ) # H Ten)
227
Z Oty 5, 595
SRR 1,012
K38 5 B 1,012
TR ER R
HIRVASHD S
FHCE
] Je > HH 4 0
ST R i oy -
KEEIRAHEE
RS T A&
Z Ot
WL - TTHTAS S 4 0
ZWEAREE 0
T FARS
PRI BR B il A 4
Z O
INfE 0
SEEIA
EEAUETE T
W PETEFAIL N 0
< DAth, 189, 108
GRS T 94, 577
THEBLEN 2 72, 562
Z DA 21, 969
—REFEDN D DA 858, 349
= & 1, 360, 743 = G 1, 360, 743




(B 2) B RELS
(D) AERRBALRIN ST
I A X
® i e ® i e
] Je 3 4 115, 291 R AR P 126, 438
FEA % 115, 291 N-# 75, 232
R it T 18, 507
BREGHERR « PR AR A 32,699
W - TR 34 141 BN s B i B 675, 456
FEAS AR 141 EEE A 329, 584
T iR M FEAHRE 345, 872
BRBEfRR - PR AEMERR TR it i R B 2, 567, 504
JE AR Jitia% A
A e 0 HUM 3 3 4 2, 567, 504
FEA ek BRETAEAN - PR Rl iR R A 2 0
i X EEFEAHEE
BRI - PR I FEAHEE
JEAE R R JEL A it i e
Ny 3, 399, 000 V3 i i 2
FEAR R 3, 399, 000 HE 4
T iR B4
BRBERR « PR ax Z Dt 0
Ry 6 FHBD iR 4
VRS FATRITE R
Z D TRt L EE
B AMEIR S AR BR AN E R &% 1,562, 727
< Dt 8, 469 Ny 1,562, 727
R R < 8, 469 FEA Sk 978, 223
LA 896, 684
F¥- 81, 539
R it 513, 837
JLAR 456, 515
A 57,322
BRI AR« PR AN 70, 667
JLAR: 68, 576




(ZD ) "R BRI mR S

I A 53 t
# : G H : )
— R REED D OIS 1, 409, 224 Kl 2,091
FA MR 25,708 A fiEk 0
R JLA
BRELHE i - PR IEs
JEA: i 5% TEZEM 0
TEZEM TLAE
& 4 F 7
Fi & sl 0
Z Ot 1,383,516 oA
-
— eSO
= 7 4,932, 125 = 7 4,932, 125




